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The  curve ﬂ:ax rl2oc 4| hos  a _S}aéfonay /ao}ru‘f
whea 2x =2. \
Caleulate .

Ls the Sfaéfonajr /?Olhzf a Jocad max ar g ém/ Mm ?

2z .
The curyve 3 = dx 4 S e i /’rao a - Max 90/1’;%- gt

(?,18) and /JaSSéS fhﬂmj)q [C‘;!O) . Eva/uage a., b

and &,

The cufve _u! = CLQC-"— e bxg-f- C@"l passes o /7 /746
poink  (c,0) . Tt has a pent of inflecen af (0,0)
It bos o ponk of infledn of (i -1
Caleulgke a, b ad ¢ .

The  cufve Y = ax’+bx®+ C passes Hhugh
Hne ,Pofnf: ( 0, i30) 5 It hcss Qa Po_fnlé of' |
inflection ol (4/2) . ‘

Calewlake a, b and ¢

The Cufve ij = ch—j- C(")Ci-l— boc + C

Passes qu.augk the point  (0,~4). Tt has a

| sFaHm(:ge k/)O{lﬁ% a ( -“,~_3) i

Calewl a)b and C .



